SERPAC 1352HL

Electronic Enclosures

11.75
.81 INSIDE 6.00 INSIDE
OVERALL LENGHT . :
A - TOP HEIGHT BOTTOM HEIGHT
I=
(7 N\
010
& 4 = i
* WIDTH INSIDE WIDTH
| 6.25 8.26 MAXIMUM
| BOSSES INSIDE WIDTH
B |
*- e + - i
- = / T ||
3 Y Z
S & I,
= & SECTION A-A
A< , ,
8.95 BOSSES 2 Mounting Brackets included, see
' sheet 2 for dimensions and for optional
10.16 MAXIMUM N mounting Corner Feet and Brackets. Aluminum and Plastic Panel Kits are
INSIDE LENGHT | L available as options, see sheets 3-6.
| 0 I ( The aluminum panel options are:
Z 2z 2 Bottom Panel Kit p/n 72008
,, Top Panel Kit p/n 7200T
Hinged Top Panel Kit p/n 7200TH
I The plastic panel option is:
Hinged Panel Kit p/n 7200HP
/.13
CASE 7.46 -UL listed to UL 508A 4/4X standard
HEIGHT OVERALL (UL file E519183).
HEIGHT -Material: UV stabilized Polycarbonate
Flommability VO, F1 rated material.
‘ -Watertight enclosure meets or
\ exceed Nema 4 and or IPé7.
PARTS INCLUDED
P/N Qty. Description
% 1352 HLT 1 I352 Hinged Latch Top
Nva 14 = : ' I350 HLB 1 I350 Hinge Latch Bottom
&@\ SN L 8350 1 350 Perimeter O-ring
s 22 FOR #10 44 BOSS [~y 7011PCM | 2 |Safety LOTCI:W fot I-series (PC)
SELF TAPPING SCREW HEIGHT — ' 1305 2 Mounting Bracket
SECTION 6028 4 SS #10 X 5/8" Pan H/L
9.72 MINIMUM B-B
INSIDE LENGHT - 4/13/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 1352/1342 Mounting Bracket Dimensions

Electronic Enclosures

11.62 — (4) Screw
pn 6028
O)lz= . 4X (.29 FOR
z (174" SCREW)
N INCLUDED STANDARD
1305 FLANGE KIT
H ] Part included with Kit number 1305
P/N Qty. Description
1305 2 Flange
6028 4 SS #10 X 5/8" Pan Combo H/L Screw
FLANGE - - - - - - '
LENGTH
TOP & LATCHES REMOVED \“_ ® & A
f f f f f , O O ol oo pn1305
OPTIONAL 1306 CORNER FEET KIT \ - 10.75 ~ / OPTIONAL 1355 CORNER BRACKETS KIT
- Pagfi;mcluded with KDite ?;ir;\’rli%?‘r 1306 . , Part included with Kit number 1355
. P/N Qty. Description
1306 4 Mounting Corner Foot - - - - - - - - - - - 1355 4 Mounting Corner Bracket
6028 4 [ SS#10X5/8"Pan Combo H/L Screw 6028 4 | SS#10X 5/8" Pan Combo H/L Screw
12.70
9.63 (4) Screw 4)(/? 812:3 FOR
N 4X D 29 FOR on 6028 /4 SCREW ——
89 1/4" SCREW ‘ /@%(CL_T‘_W“Q)\\“ i il 4 @i ©§\ 3.00
7 U &\*@4 H,=§' ~1= }\ﬁfp ﬁ:\ 1'%
) 7" { 7= ‘ Z2) %
e @N v d N
" (4) Corner Braket
pn 1355
.16
9.48
8.73
| @ i | Q
0 é,% —e o / L
@%ﬁn—r‘=’1ﬁ - =) N
(4) Screw %K | _ 719 \ 2
pn 6028 878 ———————— (4) Corner foot 4/13/2021
pn 1306 2009 Wright Ave. La Verne, CA 91750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPACGC 7200T Aluminum Top Panel Kit for

10.04

Ground s’rrc:p/O

hole

\Pqnel

pn 72040

,

13—

— R.35

—(4) Screw
pn 6028

ecerenic enclonres. 35HL, 342HL, 352HS, 342HS, 352S and 342S

Optional kit
pn 7200T

Part included in Kit number 7200T
P/N Qty. Description
72040 1 Top Aluminum Panel
6029 4 SS #10 X 3/8" Pan HL Screw

11/8/2021
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 72040 Aluminum Top Panel
Electroni Enclosires 352HL, 342HL, 352HS, 342HS, 352S and 342S

10.04

O)

35—

~ R35

4 PLC'S

9.56

o

-

@ .20 THRU
4 PLC'S

11/8/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7200B Aluminum Bottom Panel Kit for
SERE'pAc S52HL, 342HL, 352HS, 342HS, 352S and 342S

8.75

(4) Screws
pn 6029

13

ﬂ
| Ground s’rrc:pJ/O ﬁﬂﬁw

Panel A
/ on 72000

Optional kit—
pn 7200B

Part included in Kit number 7200B
P/N Qty. Description

72000 1 Bottom Aluminum Panel
6029 4 SS #10 X 3/8" Pan HL Screw

11/8/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERpAc72000 Aluminum Bottom Panel

Slectranic Enclosires 352HL, 342HL, 352HS, 342HS, 352S and 342S

57 - 17 i @ 20THRU
' 4PLC'S
O | et
35—
D .17
6.25
6.88
@ @
5 o5 \R.Oé

4PLC'S

13

11/8/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPACGC 7200TH Aluminum Hinged Top Panel Kit for
Electronic Enclosures. 35 IHL, S42HL, 352HS, 342HS, 352S and 342S

—Panel Hinge A Panel Hinge B
pn 1308 pn 1309

(2) Screw pn 6030 and
(2) Nut pn 6105 (not shown)

(2) Screw
_ pn 6028
N

i
=
Ground stra ‘ ) . .
holb @ —(2) Hinge Pin
‘ pn 1307
//é@ € ) € ) € ) ©
o
() o)
V -
SERPAG
\
Panel @ \ S
pn 72020 : =C
\ Optional kit
* on 7200TH
(2) Screw
pn 6029
Part included in Kit number 7200TH
P/N Qty. Description
72020 1 Aluminum Hinged Top Panel
6029 2 SS #10 X 3/8" Pan H/L Screw
13— 6030 2 | SS #10-32 X 3/8" PH-PN Combo Screw
6105 2 SS #10-32 Hex Nut Plain
f p%\ ('Qa 6028 2 SS #10 X 5/8"Pan H/L Screw
| 1307 2 Hinge Pin
% j b 1308 1 Panel Hinge A

1309 1 Panel Hinge B

11/08/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 72020 Aluminum Hinged Panel
Slectronic Enclesures FHIHL, S342HL, 352HS, 342HS, 352S and 342S

R.06
8.16 4PLC'S
: 2PLC'S
71 | R @ .20THRU
| 4PLC'S
, g 35— \
O | O/
D7
3.11
8.14
6.94
3.83
j2< ~ R.35
706 ] 2 PLC'S
10.04
I I I I |
13—

11/08/2021
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7200HP Plastic Hinged Top Panel Kit for
SEREIPAC 352HL, 342HL, 352HS, 342HS, 352S and 342S

Panel Hinge Left

Panel Hinge Right
pn 1310 on 1311
(4) Screw
A< pn 6028

o~

v ’ % T

B ? B

7.95 |
Customizable |
Areq | 8.19 {
Panel | SERPAG
" pn 62021
—
b
A :
~=— 20X Optional kit
- 9.88 Customizable Area SECTION A-A pn 7200HP
10.12
10—
U Parts Included in kit number 7200HP
P/N Qty. Description
It 2 72021 1 Plastic Hinged Top Panel
SECTION B-B 1310 1 Panel Hinge Left
9.82 1311 1 Panel Hinge Right
’ 6028 4 SS #10 X 5/8" Pan H/L Screw

11/8/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




72021 Plastic Hinged Top Panel
SEREIPAC 352HL, 342HL, 352HS, 342HS, 352S and 342S

-
A
B B
t" "J‘ﬁr
7.95
Customizable
Ared
19
3.82
\</>\\ /@>
G.21 | .
2 PLC'S A<_ .84 X 45
4 PLC'S
9.88 Customizable Area -
= 10.12
SECTION B-B
9.82

—~{}~—10
71 7
7.89
02
RECESS
A
45 (=
—~{ 57 [~
SECTION A-A

11/8/2021

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

SERPAC:
1352HL, TCBC 1352HL, TGBC [352HL, TGBG



https://www.mouser.com/serpac
https://www.mouser.com/access/?pn=I352HL, TCBC
https://www.mouser.com/access/?pn=I352HL, TGBC
https://www.mouser.com/access/?pn=I352HL, TGBG

	I352HL
	Drawing View2
	Section View B-B
	Section View A-A
	Drawing View38

	MOUNTS
	Drawing View16
	Drawing View39
	Drawing View40

	7200T
	Drawing View25
	Drawing View26
	Drawing View41

	AP-1 72040
	Drawing View54
	Drawing View55

	7200B
	Drawing View28
	Drawing View29
	Drawing View42

	AP-3 72000
	Drawing View51
	Drawing View52

	7200TH
	Drawing View31
	Drawing View32
	Drawing View43

	AP-2 72020
	Drawing View49
	Drawing View50

	7200HP
	Drawing View34
	Section View A-A
	Section View B-B
	Drawing View44

	72021
	Drawing View45
	Section View A-A
	Section View B-B


